31E ¥FEEns-1 FEEDAIZONT, 2 AOEEN KD 5NB L5175 5, |

s W

¢ OsC  HFE &mEi(

Eff LD 2 5 A (2), B(5) HDEREIL

AB=| 5 |—| 2 |=| 3

HONDEAZAFORINRS x &, ZFHD
EHEMALTRDEE, RDOLIITRY T,
x>0720DT

x=+/3242% =| /13

P EREEIANED SN TS FHE EEEE LWVWET,
ADOHDRPIL, x EEN2, yEENITY,

ZDR%E P(2,3) &RUET,

y
3 P
Q
T
0] 2 A
S

RDOEEAEDEIZEE LRI,

1 Q4 2 2 R(-1, 3
@ SGB, -2 4) T(0, 1)

(HRIE p53  HE 6)

2/ A2, 1), B(5, 3)EDHERE AB 2KDET,

EOHD LS ZEA=ZAF ABCE2EZ5 L,
ZFFDOEHEMNS AB?*=AC*+ BC?
AB>0720DT

AB=+/AC'+BC’
N D)
=¢ 3 ['4] 2 2=¢ 13

P —RIZ, RDOIEMNRYIMIHL ET,

2 S0 EH

2 ).5\: A (xl, yl)’ B (xzy yz) FEﬁO)EE%ﬁ AB li
AB =1/(x— 212 +(y,— »))°

B2, B O, MA(x, y) HOES#OA I

OA =\/x"+y/

@&

(2 mFE D EaRE)
2R A, —2), B(5 0) HDHER ABZKRDLL

(BRIE p54 4]

AB:VK&- 1)+ o |--2f

[ (1 FEREDZE) +(y BERED ) ]

2 2
=¢ 4 4 2
=¢ 20 |=|2.5
%7, BEAO, A(l, —2) DO OA %k L

2

OA=\/ 1 P+l=2f = V5

&

—/20 =/22x5 =2/5



31E FHEDS-1

EEEDAIZOVT, 2 AREOEEIKD 6N LS IS, |

(

)

)& &mHi(

RO 2 HEOBHEE KDZ IO,
1 A, 2, B4, 3

AB=+(4—1)%+(3—2)

=+/324+12 =10

@ E(-1, 1), F(2, =5)

EF=+/{2—(=1)P+{(=5)—1}
=+/324+(—6)? =/45 =35

(BRIE p54 HET)
2 C2, =2), D, 1)

CD=+(6—2)*+{1—(—2)]?

=443 =/25 =5

4 0O, 0, G(-1, 3

0G=+/(—172+3% =10

ik Y R Y

IERTXE LAD,

TX/= FHhED

HEVTERMN- 2




